

Józef Burzyk

An example of a group convergence with unique sequential limits which cannot be associated with a Hausdorff topology

Czechoslovak Mathematical Journal, Vol. 43 (1993), No. 1, 7–14

Persistent URL: <http://dml.cz/dmlcz/128390>

Terms of use:

© Institute of Mathematics AS CR, 1993

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

AN EXAMPLE OF A GROUP CONVERGENCE WITH UNIQUE
SEQUENTIAL LIMITS WHICH CANNOT BE ASSOCIATED
WITH A HAUSDORFF TOPOLOGY

JÓZEF BURZYK, Katowice

(Received February 4, 1988)

As usual, by C we denote the Cantor set equipped with the topology inherited from the real line. We assume that $\{0, 1\}$ is the two-element group equipped with the discrete topology. Throughout the paper we denote by X the set of all continuous functions from C to $\{0, 1\}$.

We write $x_n \rightarrow x(G)$ and say that a sequence $\{x_n\}$ converges to x in (X, G) if $x_n, x \in X$ for $n \in \mathbb{N}$ and for every subsequence $\{u_n\}$ of $\{x_n\}$ there are a subsequence $\{v_n\}$ and an open dense subset A of C such that

$$v_n(t) \rightarrow x(t) \quad \text{for } t \in A.$$

It is not difficult to prove that G is a FLUSH-convergence, i.e., it satisfies the conditions:

- (F) $x_n \rightarrow x$ implies $x_{m_n} \rightarrow x$;
- (L) $x_n \rightarrow x, y_n \rightarrow y$ implies $x_n \pm y_n \rightarrow x \pm y$;
- (U) if for every subsequence $\{u_n\}$ of a given sequence $\{x_n\}$ there is a subsequence $\{v_n\}$ of $\{u_n\}$ such that $v_n \rightarrow x$ for a given x , then $x_n \rightarrow x$;
- (S) if $x_n = x$ for $n \in \mathbb{N}$, then $x_n \rightarrow x$;
- (H) if $x_n \rightarrow x$ and $x_n \rightarrow y$, then $x = y$.

We claim the following:

Theorem. (a) If V is a nonempty subset of X such that $x_n \in V$ for sufficiently large n whenever $x_n \rightarrow x(G)$ and $x \in V$, then for every $y \in X$ there is a sequence $\{x_n\}$ of elements x_n in V such that $x_n \rightarrow y(G)$.

(b) If τ is a topology on X which preserves the convergence G , i.e., $x_n \rightarrow x(G)$ implies $x_n \rightarrow x$ in (X, τ) , then nonempty open sets in (X, τ) are sequentially dense in X .

(c) If τ is a topology on X which preserves the convergence G , then the intersection of any two nonempty open sets in (X, τ) is nonempty.

(d) G is a FLUSHP-convergence, i.e., G satisfies the following condition:

(P) if $x_{ij} \rightarrow x_i$ as $j \rightarrow \infty$ for $i \in \mathbb{N}$ and for any two subsequences $\{p_i\}$ and $\{q_i\}$ of $\{i\}$ we have $x_{p_i, q_i} \rightarrow x$ for a given x , then $x_i \rightarrow x$.

Summarizing, we may say that there is no Hausdorff topology which induces the convergence G . An example of a FLUSH-convergence group for which there is no Hausdorff topology inducing the convergence is given in [1]. J. Pochcial notes in [2] that convergences in T_3 -topological spaces are FLUSHP-convergences and convergences in topological groups are FLUSHP-convergences.

Observe that (a) implies (b) and (b) implies (c). Hence it suffices to prove (a) and (d).

PROOF OF (a). Let a be an arbitrary fixed point in X and let $U = V - a$. We assert that if $x \in U$ and $x_n \rightarrow x$ in (X, G) , then $x_n \in U$ for sufficiently large n . Indeed, if $x \in U$ then $x = v - a$ for some $v \in V$ and, by (L), $x_n + a \rightarrow v$ in (X, G) . Therefore $x_n + a \in V$ for sufficiently large n or, equivalently, $x_n \in U$ for sufficiently large n . Assume that $u \in U$ and $\{w_n\}$ is a sequence of all rational numbers. Let $\{P_n\}$ be a base at w_1 of closed-open subsets of C such that $P_n \supset P_{n+1}$ for $n \in \mathbb{N}$. We put

$$u_n = u \cdot I_{C \setminus P_n}$$

where $I_{C \setminus P_n}$ is the characteristic function of the set $C \setminus P_n$. We note that $u_n \in X$ for $n \in \mathbb{N}$ and $u_n(t) \rightarrow u(t)$ for $t \in C \setminus \{w_1\}$. Therefore $u_n \rightarrow u$ in (X, G) . Consequently, there is an index n_1 such that $x_1 \in U$ with

$$x_1 = u_{n_1} = u \cdot I_{C \setminus Q_1} \in U \quad \text{and} \quad Q_1 = P_{n_1}.$$

We note that Q_1 is a closed-open subset of C and $w_1 \in Q_1$. By induction we find a sequence $\{x_n\}$ and a sequence $\{Q_n\}$ of closed-open subsets of C such that

$$x_n = u \cdot I_{C \setminus (Q_1 \cup \dots \cup Q_n)}, \quad x_n \in U \quad \text{and} \quad w_n \in Q_n$$

for $n \in \mathbb{N}$. We put

$$A = \bigcup_{n=1}^{\infty} Q_n$$

and note that A is an open dense subset of C and $x_n(t) \rightarrow 0$ for $t \in A$. This means that $x_n \rightarrow 0$ in (X, G) and $x_n \in U$ for $n \in \mathbb{N}$. Let $\{y_n\}$ be a sequence such that $x_n = y_n - a$. Then $y_n \in V$ for $n \in \mathbb{N}$ and, by (L), $y_n \rightarrow a$, which was to be proved. \square

To complete the proof of our Theorem we should show that G has property (P). To this aim we shall prove a number of lemmas.

Lemma 1. *The following conditions are equivalent:*

- (i) $x_n \rightarrow x$ in (X, G) ;
- (ii) for every subsequence $\{y_n\}$ of $\{x_n\}$ and for every nonempty open subset U of C there are a subsequence $\{z_n\}$ of $\{y_n\}$ and a nonempty open subset V of U such that $z_n(t) = 0$ for $t \in V$ and $n \in \mathbb{N}$.

Proof. Assume that (i) holds, $\{y_n\}$ is a subsequence of $\{x_n\}$ and U is a nonempty subset of C . Let $\{u_n\}$ be a subsequence of $\{y_n\}$ and let A be an open dense subset of C such that $u_n(t) \rightarrow 0$ for every $t \in A$. We see that $W = U \cap A$ is a nonempty open subset of U . We put

$$F_n = \{t \in W : u_m(t) = 0 \text{ for } m \geq n \text{ and } m, n \in \mathbb{N}\}.$$

Note that F_n are closed subsets of W and $W = \bigcup_{n=1}^{\infty} F_n$. Hence, by the Baire category theorem, there is an index n_0 such that $\text{int } F_{n_0} \neq \emptyset$. Assuming $z_n = u_{n_0+n}$ for $n \in \mathbb{N}$ and $V = \text{int } F_{n_0}$ we see that $z_n(t) = 0$ for every $t \in V$ and $n \in \mathbb{N}$. This shows that (i) implies (ii). To prove that (ii) implies (i) we take a countable base $\{U_n : n \in \mathbb{N}\}$ of open sets in C and a subsequence $\{y_n\}$ of $\{x_n\}$. If (ii) holds, then there are a subsequence $\{z_{1n}\}$ of $\{y_n\}$ and an open subset V_1 such that $V_1 \subset U_1$ and $z_{1n}(t) = 0$ for $t \in V_1$ and $n \in \mathbb{N}$. By induction we find a sequence of sequences $\{z_{kn}\}$ and a sequence $\{V_n\}$ of open sets V_n such that $\{z_{k+1,n}\}$ is a subsequence of $\{z_{kn}\}$ for $k \in \mathbb{N}$ and $z_{kn}(t) = 0$ for $t \in V_k$ and $n \in \mathbb{N}$. We put

$$A = \bigcup_{k=1}^{\infty} V_k$$

and

$$v_n = z_{nn}$$

for $n \in \mathbb{N}$. Then A is an open dense subset of C , $v_n(t) \rightarrow 0$ for $t \in A$ and $\{v_n\}$ is a subsequence of $\{y_n\}$. This shows that $x_n \rightarrow 0$ in (X, G) or, equivalently, (ii) implies (i). \square

We introduce auxiliary convergences on X . We write $x_n \rightarrow x(T_0)$ or $x_n \rightarrow x$ in (X, T_0) iff $x_n, x \in X$ for $n \in \mathbb{N}$ and there is a dense subset A of C such that $x_n(t) \rightarrow x(t)$ for $t \in A$. We write $x_n \rightarrow x(T)$ or $x_n \rightarrow x$ in (X, T) iff for every subsequence $\{u_n\}$ of $\{x_n\}$ there is a subsequence $\{v_n\}$ of $\{u_n\}$ such that $v_n \rightarrow x(T_0)$. Obviously, $x_n \rightarrow x(G)$ implies $x_n \rightarrow x(T)$ but not conversely.

Lemma 2. (X, T) is a FUS-convergence space with the following properties:

(L₀) If $x_n \rightarrow x$ in (X, T) and $y \in X$, then $x_n + y \rightarrow x + y$ in (X, T) . If $x_n \rightarrow x$ in (X, T) , then $-x_n \rightarrow -x$ in (X, T) .

(H₀) If $x_n = x$ and $x_n \rightarrow y$ in (X, T) , then $x = y$.

PROOF. Properties FUS of T are obvious. Properties (L₀) and (H₀) follow from the fact that if x and y are continuous functions and $x(t) = y(t)$ for t belonging to a dense subset of C , then $x = y$. \square

Lemma 3. For every sequence $\{x_n\}$ in X the following conditions are equivalent:

(i) $x_n \rightarrow 0$ in (X, T) ;

(ii) for every subsequence $\{y_n\}$ of $\{x_n\}$ the set

$$A = \{t \in C : y_n(t) = 0 \text{ for infinitely many } n \in \mathbb{N}\}$$

is dense in C ;

(iii) for every subsequence $\{y_n\}$ of $\{x_n\}$ and for every open set $U \subset C$ there is $t \in U$ such that $y_n(t) = 0$ for infinitely many $n \in \mathbb{N}$.

PROOF. Obviously, (i) implies (ii) and (ii) implies (iii). To prove that (iii) implies (i) we take a countable base $\{U_n : n \in \mathbb{N}\}$ of open sets in C and a subsequence $\{y_n\}$ of $\{x_n\}$. If (iii) holds, then there is an element t_1 of U_1 and a subsequence $\{z_{1n}\}$ of $\{y_n\}$ such that $z_{1n}(t_1) \rightarrow 0$. By induction we select a sequence of sequences $\{z_{kn}\}$ and a sequence $\{t_k\}$ such that, for every $k \in \mathbb{N}$, $\{z_{k+1,n}\}$ is a subsequence of $\{z_{kn}\}$, $t_k \in U_k$ and $z_{kn}(t_k) \rightarrow 0$ as $n \rightarrow \infty$. Denoting $z_k = z_{kk}$ for $k \in \mathbb{N}$ and $A = \{t_k : k \in \mathbb{N}\}$ we see that A is a dense subset of C and $z_n(t) \rightarrow 0$ for $t \in A$. This shows that (iii) implies (i). \square

Lemma 4. If no subsequence of $\{x_n\}$ converges to zero in (X, T) , then for every subsequence $\{u_n\}$ of $\{x_n\}$ there are a subsequence $\{v_n\}$ of $\{u_n\}$ and a nonempty open set V in C such that $v_n(t) = 1$ for $t \in V$ and $n \in \mathbb{N}$.

PROOF. We claim that, under the conditions of the lemma, for every subsequence $\{u_n\}$ of $\{x_n\}$ there are a subsequence $\{z_n\}$ of $\{u_n\}$ and an open set U in C such that, for every $t \in U$, $z_n(t) = 0$ for sufficiently large n . Otherwise, by Lemma 3 (iii), there would exist a subsequence $\{u_n\}$ of $\{x_n\}$ such that $u_n \rightarrow 0$ in (X, T) . We put

$$F_n = \{t \in U : z_m(t) = 1 \text{ for } m \geq n\}$$

and note that F_n are closed subsets of C and

$$U = \bigcup_{n=1}^{\infty} F_n.$$

By the Baire theorem there is an index n_0 such that $\text{int } F_{n_0} \neq \emptyset$. Denoting $V = \text{int } F_{n_0}$ and $v_n = z_{n_0+n}$ for $n \in \mathbb{N}$ we see that $v_n(t) = 0$ for every $t \in V$ and $n \in \mathbb{N}$, which was to be proved. \square

Lemma 5. *Assume that $\{x_n\}$ is a sequence in X such that $x_n \rightarrow 0(T)$ and the only limit of every subsequence of $\{x_n\}$ is zero. Then $x_n \rightarrow 0(G)$.*

Proof. Let U be a nonempty open subset of C . We may assume that U is an open-closed set. Let x be the characteristic function of U , let $\{u_n\}$ be a subsequence of $\{x_n\}$ and let $\{v_n\}$ be a subsequence of $\{u_n\}$ such that $v_n \rightarrow 0$ in (X, T_0) . Assume that for a subsequence $\{w_n - x\}$ of $\{v_n - x\}$ we have $w_n - x \rightarrow 0$ in (X, T) . Then, by (L_0) , $w_n \rightarrow x$ in (X, T) and $x \neq 0$ which is impossible. Therefore, no subsequence of $\{v_n - x\}$ converges to zero in (X, T) . Hence, by Lemma 4, there exist an open set V and a subsequence $\{w_n - x\}$ of $\{v_n - x\}$ such that $w_n(t) - x(t) = 1$ for every $t \in V$ and $n \in \mathbb{N}$. We claim that $V \subset U$. Otherwise, $V \setminus U$ would be a nonempty open subset of C and, consequently, there would be an element $t \in V \setminus U$ such that $w_n(t) = 0$ for sufficiently large n and $x(t) = 0$. On the other hand, $w_n(t) + x(t) = 1$. Hence $w_n(t) = 1$ for sufficiently large n , which is impossible since $w_n(t) = 0$ for sufficiently large n . This contradiction shows that $V \subset U$. Therefore, $w_n(t) = 0$ for $t \in V$ and $n \in \mathbb{N}$. In this way we have proved that, under the conditions of Lemma 4, condition (ii) of Lemma 1 is satisfied or, equivalently, $x_n \rightarrow 0$ in (X, G) , which completes the proof of Lemma 5. \square

From Lemma 5 we get

Corollary 1. *We have $x_n \rightarrow x$ in (X, G) iff $x_n \rightarrow x$ in (X, T) and there is no subsequence of $\{x_n\}$ which converges in $\{X, T\}$ to an element different from x .*

Lemma 6. *The convergence (X, T) satisfies the following diagonal type condition:*

(Φ) *If $x_{ij} \in X$ for $i, j \in \mathbb{N}$, $x_{ij} \rightarrow x_i$ in (X, T) as $j \rightarrow \infty$ for $i \in \mathbb{N}$ and $x_i \rightarrow 0$ in (X, T) , then there are subsequences $\{m_i\}$ and $\{n_i\}$ of $\{i\}$ such that $x_{m_i, n_i} \rightarrow 0$ in (X, T) .*

Proof. We may and will assume that $x_{ij} \rightarrow x_i$ in (X, T_0) as $j \rightarrow \infty$ for $i \in \mathbb{N}$, and $x_i \rightarrow 0$ in (X, T_0) . Otherwise, applying the diagonal procedure, we would take such a submatrix. Let V_1, V_2, \dots be a base for the topology in C . Note that if $y_n \rightarrow y$ in (X, T_0) , V is an open set in C and $y^{-1}(\{0\}) \cap V \neq \emptyset$, then there are an element $t \in y^{-1}(\{0\}) \cap V$ and an index n_0 such that $y_n(t) = 0$ for $n \geq n_0$. Consequently, $y_n^{-1}(\{0\}) \cap V \neq \emptyset$ for $n \geq n_0$. This remark implies that there is a subsequence $\{m_i\}$ of $\{i\}$ such that $x_{m_i}^{-1}(\{0\}) \cap V_k \neq \emptyset$ for $i \in \mathbb{N}$ and $k = 1, \dots, i$. By the same remark

there exists a subsequence $\{n_i\}$ of $\{i\}$ such that

$$x_{n_i, n_i}^{-1}(\{0\}) \cap x_{m_i}^{-1}(\{0\}) \cap V_k \neq \emptyset.$$

For every subsequence $\{r_i\}$ of $\{i\}$ we put

$$A = \bigcap_{m=1}^{\infty} \bigcup_{i=m}^{\infty} \bigcup_{j=1}^{p_i} x_{p_i, q_i}^{-1}(\{0\}) \cap x_{p_i}^{-1}(\{0\}) \cap V_j,$$

where $p_i = m_{r_i}$ and $q_i = n_{r_i}$ for $i \in \mathbb{N}$. First note that A is the intersection of a countable family of dense and open subset of C . Therefore, by the Baire Category Theorem, A is a dense subset of C . Moreover, notice that if $t \in A$, then $x_{p_i, q_i}(t) = \emptyset$ for infinitely many $i \in \mathbb{N}$. Hence, by Lemma 2(b), $x_{m_i, n_i} \rightarrow 0$ in (X, T) , which was to be proved. \square

Assume that Y is an abelian group equipped with a convergence W . By W_* we denote the convergence in Y such that

$$x_n \rightarrow x(W_*) \quad \text{iff} \quad z_n \rightarrow 0(W) \text{ implies } x_n + z_n \rightarrow x(W).$$

We see that $x_n \rightarrow x(W_*)$ implies $x_n \rightarrow x(W)$.

Lemma 7. *Assume that W is a FL_0USH_0 -convergence in Y . Then*

- (i) W_* is a FLUSH -convergence in Y ;
- (ii) if $x_n \rightarrow x(W_*)$, then the only limit of every subsequence of $\{x_n\}$ is x , i.e., if $x_n \rightarrow 0(W_*)$ and $\{y_n\}$ is a subsequence of $\{x_n\}$ such that $y_n \rightarrow y(W)$, then $y = x$;
- (iii) if W has property (Φ) , then W_* has property (P) .

Proof of (i). Assume that $x_n \rightarrow x(W_*)$, $\{x_{m_n}\}$ is a subsequence of $\{x_n\}$ and $z_n \rightarrow 0(W)$. We put $u_{m_n} = z_n$ for $n \in \mathbb{N}$ and $u_k = 0$ if $k \in \mathbb{N}$ and $k \neq m_n$ for $n \in \mathbb{N}$. By (H_0) , (U) and (F) , $u_n \rightarrow 0(W)$. Hence $x_n + u_n \rightarrow 0(W)$. By (F) , $x_{m_n} + z_n \rightarrow 0(W)$ which proves (F) . To prove (L) we note that $x_n \rightarrow x(W_*)$ iff $x_n - x \rightarrow 0(W_*)$. Indeed, assume that $x_n \rightarrow x(W_*)$ and $z_n \rightarrow 0(W)$. Then $x_n + z_n \rightarrow x(W)$. Hence by (L_0) we have $x_n - x + z_n \rightarrow 0(W)$ or, equivalently, $x_n - x \rightarrow 0(W_*)$. Assume now that $x_n - x \rightarrow 0(W_*)$ and $z_n \rightarrow 0(W)$. Then $x_n - x + z_n \rightarrow 0(W)$. Hence, by (L_0) , $x_n + z_n \rightarrow x(W)$ or, equivalently, $x_n \rightarrow x(W_*)$. Now assume that $x_n \rightarrow x(W_*)$ and $y_n \rightarrow y(W_*)$ and $z_n \rightarrow 0(W)$. Then $x_n - x \rightarrow 0(W_*)$ and $y_n - y + z_n \rightarrow 0(W)$. Hence we get

$$(x_n - x) + (y_n - y) + z_n \rightarrow 0(W)$$

or, equivalently, $x_n + y_n - x - y \rightarrow 0(W_*)$ and $x_n + y_n \rightarrow x + y(W_*)$. This proves (L) . Assume that $x \in Y$, $\{x_n\}$ is a sequence in Y , and for every subsequence $\{u_n\}$ of

$\{x_n\}$ there is a subsequence $\{v_n\}$ of $\{u_n\}$ such that $v_n \rightarrow x(W_*)$. Moreover assume that $z_n \rightarrow 0(W)$. Then, by (F), $x_n + z_n \rightarrow x(W)$ or, equivalently, $x_n \rightarrow x(W_*)$. This proves (U). Properties (S) and (H) follow from (H₀) and (L₀). \square

P r o o f of (ii). Assume that $x_n \rightarrow x(W_*)$, $x_{m_n} \rightarrow y(W)$ and $\{z_n\}$ is a sequence such that $z_{m_n} = y - x_{m_n}$ for $n \in \mathbb{N}$ and $z_k = 0$ for $k \in \mathbb{N}$ and $k \neq m_n$ for $n \in \mathbb{N}$. From (L₀), (H₀), (F) and (U) it follows that $z_n \rightarrow 0(W)$. Thus $x_n + z_n \rightarrow x(W)$ and $x_{m_n} + z_{m_n} = y$ for $n \in \mathbb{N}$. Hence, by (F) and (H₀), $y = x$, which proves (ii). \square

P r o o f of (iii). Assume that $x_{ij} \in Y$ for $i, j \in \mathbb{N}$, $x_{ij} \rightarrow x_i(W_*)$ as $j \rightarrow \infty$ for $i \in \mathbb{N}$ and for any subsequences $\{m_i\}$, $\{n_i\}$ of $\{i\}$ we have

$$x_{m_i, n_i} \rightarrow 0(W_*).$$

To show that $x_i \rightarrow 0(W_*)$ we take an arbitrary sequence $\{z_i\}$ such that $z_i \rightarrow 0(W)$, and choose a subsequence $\{p_i\}$ of $\{i\}$. Then, by the definition of W_* and properties (F) and (L) for W , we can write

$$x_{p_i} - x_{p_i, p_j} + z_{p_i} \rightarrow z_{p_i}(W)$$

as $j \rightarrow \infty$ for $i \in \mathbb{N}$ and $z_{p_i} \rightarrow 0(W)$. Now, if the convergence W has property(Φ), there exist two subsequences $\{r_i\}$ and $\{s_i\}$ such that

$$(x_{k_i} + z_{k_i}) - x_{k_i, l_i} \rightarrow 0(W)$$

and

$$x_{k_i, l_i} \rightarrow 0(W_*)$$

with $k_i = p_{r_i}$ and $l_i = p_{s_i}$ for $i \in \mathbb{N}$. This together with the definition of W implies

$$x_{k_i} + z_{k_i} \rightarrow 0(W).$$

In this way we have shown that every subsequence of $\{x_i + z_i\}$ has a subsequence which converges to zero in (X, W) or, equivalently, $x_i + z_i \rightarrow 0(W)$. Consequently, $x_i \rightarrow 0(W_*)$, which proves (iii). \square

Now we can prove statement (d).

P r o o f of (d). By Lemmas 2 and 6, T is a $FL_0USH_0\Phi$ -convergence in X . Therefore, by Lemma 7, T_* is a $FLUSHP$ -convergence in X . We claim that $G = T_*$. Indeed, assume that $x_n \rightarrow x$ in (X, G) , $z_n \rightarrow 0$ in (X, T) and $\{p_n\}$ is a subsequence of $\{n\}$. Let $\{r_n\}$ be a subsequence of $\{p_n\}$ and let A be an open dense subset of C such that $x_{r_n}(t) \rightarrow x$ for $t \in A$. Let $\{q_n\}$ be a subsequence of $\{r_n\}$ and let B be a

dense subset of C such that $z_{q_n}(t) \rightarrow 0$ for $t \in B$. Then $A \cap B$ is a dense subset of C and $x_{q_n}(t) + z_{q_n}(t) \rightarrow x(t)$ for $t \in A \cap B$. Consequently, $x_n + z_n \rightarrow x(T)$. This shows that $x_n \rightarrow x(T_*)$, i.e., $G \subset T_*$. Assume now that $x_n \rightarrow x(T_*)$ and $\{y_n\}$ is a subsequence of $\{x_n\}$ such that $y_n \rightarrow y(T)$. Then, by Lemma 7 (ii), $y = x$. Hence, by Corollary 1, $x_n \rightarrow x(G)$ which shows that $G \supset T_*$. Finally, $G = T_*$. Since T_* is a FLUSHP-convergence on X , G is a FLUSHP-convergence in X and this proves (d). \square

References

- [1] *J. Novák*: On convergence groups, Czechoslovak Math. J. 20(95) (1970), 357–374.
- [2] *J. Pochcial*: On functional convergences, Rend. Ist. Univ. di Trieste XVII (1985), 47–54.

Author's address: Oddzial IM PAN, Staromiejska 8, 40-013 Katowice, Poland.